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WIFTM, N: MARRBR T RAR, N SRR MM HAN.

W2 RI, THO, BR, 56, Ri="p WERMKE. & HERMEM. &.

WIFTISTM, AEXKITHHERNS 6,/6. HEN.

8447 THPD, HEXIIWHENN6,/6, . KABSTISTM,

M7 ISTM, HEXIHWHENS, GSAMATH.

617 GPD, XEKITWHEWH GSA ML, HTHST ISTM,
B2.1.2 WANERM

21, 21,

1.0, 30.0,

13,

-2.0, —1.5, —1.0, —0.25, 0.0, 0.25, 0.5, 0.6, 0.8, 1.0, 1.5, 2.0, 3.0, 16,

0.01, 0.1, 0.25, 0.5, 0.75, 1.0, 1.25, 1.5, 2.0, 2.5, 3.0, 3.5, 4.0, 5.0, 6.0, 7.0,
B2.2 itWEF
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THIS 1S MAIN PROGRAME

®E & R R R X E X F R F SRR RN FEE R AR E RN E R RN E RS

DIMENSION Xo0(2),X(2), DX(2)

DIMENSION THPD (20}, GPD(20)

COMMON/C3/R1, THO, GP, THP, Su, Tcm

COMMON/C4/W, QIN, QOUT, QRI1. QR2, POW, TMAX, BWBJS,
THWOJS, Hmin, RRhmin, THhmin, RRtmax, THimax

L B B ]

COMMON /C5/NDO, LS, LSSO, NG, LEE, MS, IBM, NG1,NG2, NAUS, THTAO. HWDR,

G, NG3, LSS, AT. AU, CT, CU, NU, NDU, LEEU

CALL DATAP (M, N, M1, N1, ISUM, THPD, GPD,

ISTM, JSTM, W)

DO 400 1IST=1, ISTM

THP=THPD (IST)

DO 300 )ST=1, JSTM

GP=GPD (]JST)

X0 (1) =GP

X0 (2) =THP

CALL FUN (X0, E0, M, N, M1, N1, Wo, LIMITH, LIMITW)
IF (LIMITH. GT. 0. AND. LIMITW. GT. 0) GOTO 100
WRITE (# , #)" LIMITh, LIMITW=", LIMITH, LIMITW
GOTO 200

CALL QMTAO (M, N, Rl, THO, Hmin, QIN, QOUT, QR1, QR2., POW)
Isu0=1Isu

ISTO=1ST

JSTo=]ST

CALL RESULT (M, N, lsu0, ISUM, IST0, JSTO, ISTM. JSTM)
CONTINUE

CONTINUE

STOP

END

TEESFNEEE R T EE N E E T E NI NN A R

: THIS SUBRGUTINE IS USED TO CALCULATE THE TOTAL FORCE AND IT’S TORQUES

C® & & B E & F 8 E AN E R EE T RS RN RN KRR E KK KR TR FE SRR

SUBROUTINE FUN(X,DELTe.M,N,M1,N1,W0,LIMITH,LIMITW)

DIMENSION H(40,100),P(40,100),T(40,100),RR(40),TH(100),U(40,100)
DIMENSION X(2)

REAL MTAO

COMMON/C2/AMUC,BMUC,TIN,T0,MU0,ANU0,Uhmin
COMMON/C3/R1,THO,GP,THP,Su,Tcm

COMMON/C4/W,QIN,QOUT,QR1,QR2,MTAO, TMAX,BWB]S. THWO0]S.Hmin,
RRhmin, THhmin, RRtmax , THtmax
COMMON/C5/NDo,LS,LSS0,NG,LEE.MS,I1BM,NG],NG2,NAUS, THTA0.HWDR.

IR E
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60

& G.NG3,LSS,AT,AU,CT,CU,NU,NDU,LEEU

1000

nn A"

30

40

!Ciii-'t--lt.tlil!l!ltli.t#tttti..i.i.!t’#!..li

&

&

COMMON/Z5/H/Z1/P/Z2/RR,TH/C188/U

GP=X(1)

THp=X(2)

CALL NCHAN(N,N1,TH0,THp,Gp,KL ,W0,RRhmin, THhmin)

NREYNO=1

CALL HH(M,N,R1,Gp.THp,Su, THO,LIMITH,RRhmin, THhmin , Uhmin . W0)
IF(LIMITH. LE. 0)GOTO 1000

CALL Hmhmin(M,N,Hmin,RRhmin, THhmin,Uhmin ,deltH)

IF (deltH. GT. 0, 001)GOTO 10

CALL REYNOL (M, N, M1, N1, THo0, R1, Hmin)

CALL WWS (M, N, M1, N1, R1, THO, W, LIMITW)

IF (LIMITW. LE. O) GOTO 1000

CALL BWTHWS (M, N, M1, N1, Ril, THo, W, BWBJS, THWO0]S, DELTe, KW)
RETURN

END

A % ® & 8 % % K & 8B B % B R B ¥ & & 8 & F & & & F & ¥ ¥ B F ¥ k% E 2 E S & ¥ S ¥

THIS SUBROUTINE IS USED TO READ INPUT DATA

SUBROUTINE DATAP (M, N, M1, N1, ISUM,
THPD, GPD, ISTM, JSTM, W0)

DIMENSION U (40, 100). RR(40), TH(100), T(40, 100). SuD(20),
THPD(20), GPD(20)

COMMON/C2/AMUC, BMUC, TIN, To, MU0, ANUO, Uhmin
COMMON/C3/R1, THO, GP, THP, Su, Tem
COMMON/C188/U/Z2/RR, TH

READ (3, =) M, N

Ml=M-1

Nl=N-]

READ (3, =) R1, THo

THO=THO » 3. 1415926/180. 0

READ (3, =) ISTM

READ (3, =) (THPD (I, I=1, ISTM)

READ (3, =) JSTM

READ (3, #) (GPD (]), J=1, JSTM)
Wo=1.0

Uhmin=0

DO 301I=1, M

DO 30 J=1, N

ud, 1) =o.

DO 401=1, M

RR(I=FLOAT({—1)/M1

DO 50 J=1,N

L ]
-
L
-
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A A A A

AR a N

TH()=FLOAT(J—1)/N1

RETURN

END

*® o o® £ % & 8 & & K B K B F F K X KR E SR FEEANN TR RN R R AR
THIS SUBROUTINE IS USED TO DELIMIT MESH OF PAD .

® % & & % % & & & % & & K & £ ® £ ¥ E & & & ¥ R ¥ B K F RS R R EE RS ES RSN
SUBROUTINE NCHAN(N, N1, THO0, THp, Gp, KL, W0, RRhmin, THhmin)
DIMENSION RR(40), TH(100)

COMMON/Z2/RR, TH

Cmax==3. 1415926/2. /THO

Cmin=—=Cmax+1

IF(THp. LT. Cmin. OR. THp. GT. Cmax) THEN

1F(THp. LT. Cmin)THEN
N=IFIX(19/(ABS(THp—Cmin+1)))

ELSE

Ne=IFIX(19/(ABS(THp—Cmax—1)))

END IF

IF(N.GT. 100)N=100

Nl=N-1

DO 10 J=1.N

TH(])=FLOAT(J—1)/N1

ENDIF

IF(THp. GE. 1. AND. THp. LE. Cmax +0. 5)THEN
RRhmin=0.

THhmin=1.

ELSE IF(THp.GT.Cmax+0.5. AND. THp. LT. Cmax+1)THEN
RRhmin=0

THhmin=0

ELSE IF(THp. LT. 1. AND. THp. GE. Cmin)THEN
RRhmin=1

THhmin=1

ELSE IF(THp. LT. Cmin. AND. THp. GT.Cmin—1. )then
Rhmin=1.

TIHhmin=1. + (THp —Cmin)

END IF

RETURN

END

@ 8 & B & &k & @ & & B B 8 ® 8 2 N N B N & & R R & kR &k & F R R EE RSN

THIS SUBROUTINE IS USED TO DETERMINE FILM THICKNESS .

-
 E ® B R R K B F §F R F R & F FE A & N E KR ¥R E RS E R E TR E RS

SUBROUTINE HH(M,N.R1,Gp,THp,Su,THO LIMITH,RRhmin,
THhmin,Uhmin, W0)
DIMENSION Ud40, 100), RR(40), TH(100), H(40, 100)
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10

30

10

A /A A N

COMMON/C188/U/Z2/RR,TH/Z5/H
Gp0=Gp/SQRT(W0)
Su0=Su/(W0 = SQRT(W0))
DO10I=1, M
DO 10J=1, N
H{, I)=1. 4+Gp0* ((RR(ID+R1) * SIN((THp—TH(J)) » THO)
& -~ (RRhmin+R1) # SIN((THp—THhmin) » TH0))+SU0 # (Uhmin—U (I, J))
CONTINUE
LIMITH=1
DO 301=]1, M
DO 30 J=1, N
IF(H(, 1).LE.O)LIMITH=—1
CONTINUE
RETURN
END
& & & & & & & ® F ¥ & & & % ¥ & & ¥ F ¥ F B F F & & F B OF F F & ® & & 8 & 8 & & &2 B & 8 &8
THIS SUBROUTINE 1S USED TO DETERMINE MINIMUM FILM :
THICKNESS AND IT’S POSITIONS :
¥ ® B ¥ % & ¥ ¥ ¥ ® F ® ¥ ® R ¥ &8 ¥ ¥ ¥ ¥ ¥ K ®F H KR R R OB R N W O ® ®E F ¥ B ® " B ¥ B B W R ®
SUBROUTINE Hhmin(M, N, Hmin, RRhmin, THhmin, Uhmin, deltH)
DIMENSION H(40, 100), RR(40),TH(100), U(40, 100)
COMMON/Z5/H/Z2/RR,TH/C188/U
Hmin0=1,
Hmin=1.E6
DO10I=1. M
DO 10]J=1, N
IF (H (I, D.GT. Hmin)GOTO 10
Hmin=H(, ])
IThmin=I
Jhmin=]
CONTINUE
RRhmin=RR (Ihmin)
THhmin=TH (Jhmin)
Uhmin=U (IHMIN, JHMIN)
deltH=ABS (Hmin~Hmin0)

RETURN
END

® F R ¥ ¥ W OF KRR F R RN KR F R R R E SRR SR E R EEREE RS R RE B

THIS SUBROUTINE 1S USED TO SOLVE REYNOLDS EQUATION :

-
® & % & % F & £ % 2 % F B F E R R F A A E EREREEEE R R E R E TR R EE YRS

SUBROUTINE REYNOL (M, N, M1, N1, THO, R1, Hmin)
DIMENSION P(40, 100), RR(40), TH(100), H(40, 100).
& BOUNDI(40), NS(40), BOUND2(40)
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10

50

200

COMMON/Z1/P/Z2/RR, TH/Z5/H

INTEGER BOUNDI1, BOUND2

A=6. » Hmin* = 2/THO

DO 10 I=1,M

BOUNDI(I)=1

BOUND2(I)=N

NS(I)=2

DO 10 J=1,N

P(I, J) =0

K=0

KB1=0

KB2=0

KB3=0

KB4=0

KB5=0

KB6=0

S1=0

S2=0

DO 200 I=2, M1

Ra=R1+.5# (RR(I)4+RR(I~-1))

Rb=R1+.5# (RR(I)+RR(I+1))

NI=NS(

NB=BOUND2(I)—1

DO 200 J=NI, NB

S=P(, ]}

Hl=.,5+ (H{, D+HU-1, ]))

H2z=.5« (H(, D+HU+1, 1))

H3=.5+ (H{, D+H({I, J=1))

H4=.5+ (H(, D+H{d, J+1))

Cl=2. *Rb» HZ» = 3/({RR(I+1)—RR(I—1) #* (RR(I+1)—RR()))
C2=2. * Ra* Hl+ » 3/((RR(I+1)=RR(I=1)) * (RR(ID—RR(1-1)))
C3=2. sHd» »3/((THJ+1)=TH(=1)) * (TH(J+1)—TH(J), » THO+ THO# (RR(D)
+R1))

Ci=2. #H3# # 3/((THU+1)—TH(—1) * (TH(})—=TH(—1)) * THO # THO #« (RR(DD
+R1))

F=2. » A+ (RR(ID4+R1) » (Hi—=H3)/(THUJ+1)—TH{(J-1))
P(L.1)=(C1 « P(14+1,))+C2* P(I-1.1D4+C3 = P(1, )+ 1)+C4 =« P(1,] - 1) —F)
/(C1+C24+C3+C4)

P, D=5+16= (P, N—95)

S1=814+ABS(P(, }D—8)

S2=824+P(, )}

CONTINUE

DO 30 I=2,M1
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30

70

80

110
100

120

56

nb=bound2 (i)—1

DO 20 J=2,NB

IF(P{,]). GT. 0. )GOTO 30
IF(PCI, ]).LT.0. AND.P(, J+1).GE.0)THEN
P(L))=0

BOUNDI(I) =]

GOTO 30

END IF

IF(PC., D.LT.0. )P, =0
IF(P(I. J).GT.0. AND P(1,)+1).LE. 0. >GOTO 30
CONTINUE

CONTINUE

KB7=0

DO 70 1=2,M1
KB7=KB7+BOUNDI1(I)
IF(KB7. EQ. KB)THEN

DO 801=2,MI
NS(I)=BOUNDI1(I)+1

ELSE

KBi1=KB2

KB2=KB3

KB3=KB{

KB4=KBS

KB5=KB6

KB6=KB7

END IF

DO 100 I=2,M1

NI=NS(I)

nb=bound2(i)—1

DO 110 J=NI.NB

IF(P(1, J).LT.0.. AND.P(I, J).LT. P, J+1))THEN
BOUND2(I) =]

GOTO 100

END IF

CONTINUE

CONTINUE

DG 1201=2, M1
JB=BOUND2Z (I)

DO 120 J-JBf N

P, J)=0.

S=S51/82

K=K+1

IF(ABS(S).GT. 0. 001)GOTO 50
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RETURN
END

l"ittlti-’-‘I‘..‘..tttﬂt---II!'-'tﬁttttil'l‘Ii.llll

€
€

THIS SUBROUTINE IS USED TO CALCULATE THE TOTAL FORCE

tlltti.C‘ﬁi...*-!--‘liiii"l!!#!##-‘t.lll.lit.“-'ﬂ

10

20

e

C ® % &

10

&

& THUM4P,J+1) «SIN(THO « THJ+1))) # (RR(D+R1) # # 2« (THJ+D~=TH())

SUBROUTINE WWS (M, N, M1, N1, R1, THO, W, LIMITW)

DIMENSION P(40, 100), RR(40), TH(100), S(50)

COMMON/Z1/P/Z2/RR, TH

W=o0

DO10I=1, M

S(hHh=0

DO 10 J=2, N1, 2

S =S(D+1. /3« (P, J=1)+4. « P, D+P(, J+1)) » (RR(I)+R1)
THJ+1)—-TH())

DO 201=2, M1, 2

W=W41./3+ (S=1)+4. = S(D+8(+1)) » (RR(I+1)—RR(D)

CONTINUE

W=W « THO

LIMITW=1

IF(W.LE. 0. )LIMITW=~-1

RETURN

END

tt!-ll:#ttlltttﬁt-t-i!lt:t#sn:ltttitt:::tcttic

THIS SUBROUTINE 1S USED TO CALCULATE TORQUE OF PAD

l..’.‘i.it--l'-"tiilﬁt‘-ill.ii-t..l‘-tlI.tit!

SUBROUTINE BWTHWS (M, N, M1, N1, R1, THo, W, BWBJS. THWOJS, E.
KW)

DIMENSION P(40, 100), RR(40), TH(100), SX(40), SY(40)
COMMON/Z1/P/22/RR, TH

XM=0

YM=0

DO10I=1, M

SX(H=0

SY(D=0

DO 10 J=2, N1, 2

SX()=SX(D+1./3. « (P, J=D+4. «P(. D

4+P(1,J4+1)) =« (RR(D+R1) # # 2« (THJ+1)-THU)

SY (1) =SY(I)+1. /3. » (P(1,]—1) = SINCTHO « TH(J—1))+4. # P(I,]) « SIN(THO

CONTINUE

DO 20 [=2,M1,2

XM=XM+1, /3. » (SX(I—1)+4. » SX(D)+SX(1+1)) » (RR(D—RR{A-1))
YM=YM+1./3. « (SY(I-1)+4. « SYX(D+SY(I+1)) » (RR(D—RR(I-1))

57



JB/T 65201992

20
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58

&’

CONTIHUE

BWB]JS=XM « THO/W —R1
YM=YM « THO/W/(BWBJS+R1)
TM=YM/SQRT(1. ~YM » »2)
THWOJ)S=ATAN(TM)/THO
RETURN

END

$ ¥ % F E F 3 E S SRS RS EREAEFREERERYFREYREREEREEREEYEEEEE YR

THIS SUBROUTINE IS USED TO OUTPUT CALCULATING RESULTS N

*
& ¥ & F B T 2 2P E LT RS LR Y EEE YL YRS RS EE RS

SUBROUTINE RESULT(M., N, 1U, ISUM, I, J, ISTM, JSTM)
DIMENSION THPD(30), GPD(30),

BWD(20, 20), THWD(20. 20), WD(20. 20), QD(20. 20}, MD(20, 20). TMAXD(20.
20)

COMMON/C3/R1, THO, Gp, THp, Su, Tem

COMMON/C4/W, Qin, Qout, Qrl. Qr2, Mtao, TMAX, BWBJS,
THWOJS, Hmin, RRhmin, THhmin, RRtmax, THtmax
COMMON/RESU/THPD, GpD, BWD, THWD. WD, QD., MD, RRmD, THmD, RRmTD.
THmTD, TmaxD

REAL MTAO, MD

WRITE(+=, 3)THp, Gp, BWB]S, THWQO])S, W

WRITE(« , 4)QIN, MTAO, TMAX

FORMAT(1X,”THp=", F8.4,, Gp=", F&.4,

BWBJS=’, F8.4,"THW0J5=", F8.4,"W=", E10.4)
FORMAT(1X,’QIN=", E10.4,"MTAO=", E10.4,"TMAX=", E11.4)
THpD(1)=THp

GpD(J)=Gp

BWD(I, J) =BWBJ]S

THWD (I, J) =THWOJS

WD (1, ]) =W

Qp I, » =QIN

MD (I, J) =MTAO

IF(1. EQ. ISTM. AND. ]J. EQ. JSTM)THEN

WRITE(4. 8)ISTM, JSTM. R1, THO

WRITE (4. 17)(THpD(IA), 1A=1, ISTM)

WRITE (4, 18) (GpD (JA), JA=1, JSTM)

WRITE (4, 14) ( (BWD (IA, JA), JA=1, JSTM), 1A=1, ISTM)
WRITE (4, 15) ( (THWD (1A, JA), JA=1, ISTM), 1A=]1, ISTM)
WRITE (4, 19) ( (WD (1A, JA), JA=1, JSTM), 1A=1, ISTM)
WRITE (4, 20) ( (QD (IA, JA), JA=1, JSTM), IA=], ISTM)
WRITE (4, 21) ( (MD (1A, JA), JA=1, JSTM), 1A=1, ISTM)
END IF

FORMAT (1X,” BWD=", /, 100 (6E11. 4, 1/))
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15 FORMAT (11X, 'THWD=", /, 100 (6E1l. 4, /)
17 FORMAT (1X,” THpD (I, J) =*, /, 100 (6E1l. 4, /))
18 FORMAT (X,’ GpD (1, ) =", /, 100(6Ell. ¢,/))
19 FORMAT(1X.,’WD(, J» =*, /, 100(6El1l. 4,/))
20 FORMAT(1X,’QD(, J) =", /, 100(6E1l. 4,/))
21 FORMAT(1X,’MD(, J) =", /, 100(6E11.4,/))
8 FORMAT(1X,’ISTM, JSTM, R1, THO=", /214, 2(E15.7))
1000 RETURN
END
R E E F E R R R T T T
‘ THIS SUBROUTINE 1S USED TO FLOW RATE AND FRICTION TORQUE .

-
€ 4 & & §F F R FE RS F R RS ET R E SRR RN N R R R R R R R R

SUBROUTINE QMTAOQO (M, N, R1, THO, Hmin, QIN, QOUT, QR1, QR2, MTAO)
DIMENSION P(40, 100), H(40,100), RR(40), TH(100),
& DQ1(40), DQ2(40), TAO(100), DS1(40)
REAL MTAO
COMMON/Z1/P/2Z5/H/Z2/RR,TH
S3=Hmin# #3
QIN=0.
QOUT=0,
DO 10I=1. M
R=R1+RR(I)
DQID=—H(, 1)* »3« (4=«P(1,2)—3«Pd, 1) =PI, 3))/(THB)—-TH(1))/
& (THO=R »12, « S3)+R »H(1, 1)/(2. » Hmin)
DQ2(D=—H(, N)» « 3= (3« P({I, N)=4+P(, N-1)+P{I,N-2))/(THN)-TH(N—
2))
& /(THO#R =12, » S3)+R « H(I, N)/(2. * Hmin)
10 CONTINUE
CALL SIMP(DQ1, QIN, M)
QIN=QIN # (RR(2)—RR(1))/3.0
CALL SIMP(DQz, QOUT, M)
QOUT=QOUT » (RR(2)—RR(1))/3.0
QR1=0.
QR2=0.
DO 20 J=1, N
Ql=—H(1, ]D)» »3» (4« P(2, D—3+P(1, D=P(3, 1))/(RR(3)—RR(1))/
& 12. +S3)
Q2=—H(M, ])» «32 (3«P(M, D=4 »P(M=1, D+PM—2, ]))/(RR(M) -
RR(M—2))
& / (12. «83)
IF (J. EQ. 1) GOTO 15
QR1=QR1+. 5+ (Q1+S1) # (TH (J) —=TH (J-1))
QR2=QR24. 5+ (Q24S52) « (TH (J) =TH (J—-1))

59
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15 51=Q1
S2=Q2
20 CONTINUE

QR1=~—R1+« THO #* QR1

QR2= (R1+1.) «THO#QR2

MTAO=0,

DO 301I=1, M

R=R1+RR (I

S=0.

DO 40 J=1, N

IF ¢J. EQ. 1) PT= (4«P (1,2) —3«P (I, 1) —P (I, 3)) / (TH (3 —TH (1))

IF (J. EQ. N)PT= (3«P (I, N) —4«P (I, N~1) 4P (I. N—2)) / (TH (N) —=TH
(N—2))

IF (J. GT. 1. AND. J. LT. N) PT= (P (I, J+1) =P (I, J—1)) / (TH {J+1) —TH
J=1»

TAO (J) = (H (1, ]) #«PT/ (2. #«R#*THO*Hmin) +R *Hmin/H (1, ])) *R=+*R
40 CONTINUE

CALL SIMP (TAO, Sl, N)

DSl (I) =Sl= (TI (2) —=TH (1)) /3. ©
30 CONTINUE

CALL SIMP (DSi, MTAO, M)

MTAO=THO« MTAO+« (RR (2) —RR (1)) /3. 0

RETURN

END

€ & & & & &4 & ¥ F & ¥ 0 B ¥R ¥V E W E S EFFEFEEERE R EE RSN ER

THIS SUBROUTINE 1S USED TO CALCULATE SIMPSON INTEGRAL

€ @ ¥ 8 B F 8 E W E S S E AR EE R RS ESEESEEREREES AR
SUBROUTINE SIMP (D, H, K)
DIMENSION D (K)

"= & K &

M-K/2
H=D (1) =D (K)
DO 101I=1. M
10 H=H+2. 0+ (2. 0«D (2+1) +D (2«1+1))
RETURN
END

ARFPHMBRERNLENURREAFRE, DERRLFLLBNORAE, EMBARRILN
AR RE.
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